A & 0l & AF 2 E A A
20219 =34 2 3] LEH EXNFIE
N EXNFIE
Ha: EXRI
@4 EURI I (Sl & &)
SN P SA(EN) - MBAY - BES 0] &k o4 p/E-E" HlDE2
SUs XS 549,900 305,060 244,840
EXFX 546,085 305,060 241,025
SNSRI OIE 546,085 305,060 241,025
SUHETSXI 530,060 305,060 225,000
201 Let24E] 313,160 288,160 25,000
01 At 22l 303,160 278,160 25,000
0 FIUHENRX PPT & EE=S MA 17,000 12,000 5,000
o NSRS EEMI ME(4M=20)
6,000& = 5005 = 404 12,000 9,000 3,000
o ClMEIE EE2AH HMZ
,000& * 58 * 200% 2,000 0 2,000
0 2HY HE T2 20,000 0 20,000
207 A RO 200,000 0 200,000
01 289 200,000 0 200,000
0 HsAMHEHX HEY & HAIHE HE 229 200,000 0 200,000
[ BSIRESPN RN 16,025 0 16,025
201 Let24E] 11,075 0 11,075
01 At 2t2l ] 11,075 0 11,075
O AENRI 2SN 4,075 0 4,075
o SAEX F 400,000& * 5% 2,000 0 2,000
o EH 7Y 115,000& * 53 575 0 575
o MRES 7Y 200,000& * 53 1,000 0 1,000
o 243 HE ¢ 100,000& = 5& 500 0 500
0 EXsX PPT Y 222 WHE 7,000 0 7,000
o BMEHX EEHI ME(4M=0)
6,000& * 2505 = 404 6,000 6,000
o BUXE W& 500,000& = 23l 1,000 1,000
202 44l 2,250 0 2,250
01 SLHOIYI 2,250 0 2,250
0 =AYl 2,250 0 2,250
o ZAbI 150,000& = 3Y = 5& 2,250 0 2,250
203 YR =&l 2,700 0 2,700
03 A BFAH S =AY 2,700 2,700
0 HAETNRI HREFL 540,000& = 53 2,700 0 2,700
HE2IAZH(FENRIH) 3,815 0 3,815
[2ZH(SEXNH2 X ) 3,815 0 3,815
JI2EH(FEXSXIE) 3,815 0 3,815
201 et 2,940 0 2,940
01 At 2t2lt] 2,940 0 2,940
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